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BHBEERNRE

THAFER BB AR RRECHRRERTE

% L IR - WAKTiE B o = L] oo ) i

EEIEE 145, 957, 562
BiEIE Gh) (B B) 145, 957, 562
HE@T 139, 056, 416
EMERT 139, 056, 416
HigeR 139, 056, 416
1-1 &R MES~100ke/ERRE CE%R) 9,712.00 14,318 139, 056, 416

m3
WE - RET 6,901, 146
WEBRT 6,901, 146
wER 3,826,372
1-2 #ER #A1,000ke/EFEE (K2R 199. 00 19, 228 3,826,372

m3
wWEHL 3,074,774
1-3 ®wEHL ) +50cm  15m~20m3k 5% 167. 00 14,257 2,380, 919

m2
1-4 ®HEHL Q) +50cm  20m~ 25m3k 5% 45.00 15, 419 693, 855

m2
HEREZE FEL) 137, 400
HBERR 137, 400
HBREZE 137, 400
RifTEEE 137, 400




BHHEENRE R4 2 S (LA )T R E ) (R B R T S

£ 5 R - AR Bify #H = B @ £ B S

BitiEE 137, 400
1-b R EEE HEREBHARE. T=4) U REIIE 1.00 137, 400 137, 400

%
BiZAEE 1,712,553
B EH 1,712,553
TILTFE—LBAIE 1,712,553
TILTFE—LBAIE 1,669, 553
B2 EEH 504, 639
2-1 BIE#AE 1.00 322,998 322,998

=
2-2 HMER (1ERSZY) 1.00 181, 641 181, 641

=
KEHE 621, 306
2-3 BETX 1.00 613,209 613, 209

=
2-4 T ILFE—LBIE 0. 01 809, 784 8,097

km2

BE 543, 608
2-5 FERT—4BE 1.00 543, 608 543, 608

=
EiERE 43,000
BE 43,000
2-6 EHERER 1.00 43,000 43,000

=




BHHEENRE R4 2 S (LA )T R E ) (R B R T S

% ) it - Bk A 1 g 2 ff & 4@ # E
B R 237,518
HEXEH 237,518
TLFE—LBAIR 237,518
EEAGE 230, 600
R 230, 600
3-1 3RTERA T — 2 1ERL 1.00 230, 600 230, 600
Has%
EiEER 6,918
R 6,918
-2 EHERAMRE 1.00 6,918 6,918
=




EHEERER SRNAGEFE £ BB L RS IR (M BB T

£ b B - KT B % =2 L] ® & W=
EEIEE 145,957, 562
MEITE# 9,828,981 + 36,454, 051 46, 283, 032
HBERERE GH 137,400 + 8,888,815 + 802, 766 9, 828, 981
HBREE (HLE) 137,400
HBEREE (X ) 145,957,562 x 6.09% ((4.47% x1.00 +1.50%) x 1.02) 8,888, 815
BSRENER 145,957,562 x 0.55% 802, 766
R f it 155,786,543 x 23.40% ((21.43% +1.29%) x 1.03) 36. 454, 051
TR 145,957,562 + 46, 283,032 192, 240, 594
—REEES 192,240,594 x 15.68% (15.68% x 1.00) — 815 30, 142,510
RREEE 192, 240,594 x 0.04% 76, 896
T H{fits 192,240,594 + 30,142,510 + 76,896 222, 460, 000
EEAEE 1,712,553
B 1,712,553 x 79.9% — 882 1,367, 447
REBEE 1,712,553 + 1,367, 447 3,080, 000
BB E TS 3,080, 000
E R 230,600 + 6,918 237,518
EEAGE 230, 600




EHEERER SRNAGEFE £ BB L RS IR (M BB T

£ b B - BT B % =2 B @ ® & W=
EERE 6,918
T DAt R f 230,600 x 53.85% ( 35% = (1 — 35%) ) 124,178
e i 237,518 + 124,178 361, 696
—REEES 361,606 x 53.85% (35% =+ (1 — 35%) ) — 6,469 188, 304
ES {id 361,696 + 188,304 550, 000
BEHEE 222,460,000 + 3,080,000 + 550, 000 226, 090, 000
HERERLE 226,090,000 x 10.00% 22, 609, 000
EATISE 248, 699, 000
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BHAFEERBEGI AR RIEEGRER TS

= 1-1
L EERER #AES~100kg/ERRE GE2R) 1000m 34 Y
2 b g - BIRTE BT o = BHO(f ® # " =
BR #A5~100kg/AIEE (ki%R)
m3 1, 300. 00 10, 800. 00 14, 040, 000
Bkt D 270PSE! 3~5tH
B 0.96 215, 936. 00 207, 298 8H
MR EXENOY
% 0.50 14, 247, 298. 00 71, 236
& B YEZERES - 1,000.00m 3 14, 318. 00 14,318,534
&5 :1-2
L WEBER A1 000kg/(ERE (ki%RA) 1000m 34 Y
2 b g - BIRTE BT H = BHO(f ® # " =
HWER #A1,000kg/ERRE GEi%R)
m3 1, 300. 00 14, 400. 00 18, 720, 000
Bkt D 270PSE! 3~5tH
B 1.91 215, 936. 00 412,437 8H
MR EXENOY
% 0.50 19, 132, 437. 00 95, 662
& B YEZERES - 1,000.00m 3 19, 228. 00 19, 228, 099
&5 :1-3
L% WwEHML ) +50cm  15m~20m*kiE 1B%Y (19.9m2)
2 b g - BIRTE BT H = BHO(f ® # " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 282, 304. 00 282,304 8H
MR 2E0%
% 0.50 282, 304. 00 1,411
& B 1YE%HES 1 19.90m 2 14, 257. 00 283,715
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&S :1-4

L HEBEHL () =50cm  20m~ 25mK i

BHAFEERBEGI AR RIEEGRER TS

1HEY (18.4m2)

2 b g - BIRTE By = BHO(f ® # " =
BKEMQABKAX (RE)) D 270PSE! 3~5tH
B 1.00 282, 304. 00 282,304 8H
MR EXENOY
% 0.50 282, 304. 00 1,411
& B YEZERESN : 18.40m 2 15, 419. 00 283,715
&5 :1-5
&2 HMTEEE FREBEIRRE. T2V OJREBIIRE 1LY
2 b g - BIRTE By = BHO(f ® # " =
HitEEE E-ARYIUTRAE
I 1.00 37, 400. 00 37, 400
HitEEE HREINAE
I=E 1.00 100, 000. 00 100, 000
& Hi 1E%HeH - 1.00K 137, 400. 00 137, 400
&5 : 2-1
&7 BIEER 1LY
2 b g - BIRTE By = BHO(f ® # " =
IS EHER
A 2.00 48, 000. 00 96, 000
RIS HRER
A 3.00 42, 200. 00 126, 600
B S B Eh#H
A 3.00 32, 400. 00 97,200
MR 2E0%
% 1.00 319, 800. 00 3,198
& B 1E%Heh - 1.00K 322, 998. 00 322,998
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TMAFERBEGIAH B RBRIZE(NERRERTE

&5 :2-2
£ BAMEROEESY) 1LY
2 b g - BIRTE By = B O ® W = " =
BIEWHEE
A 1.00 25, 400. 00 25,400
FSvo 2tiE
B 1.00 29, 863. 00 29,863 /4. 70H / 8H
Jx)—EE 5~6mEiG
= 1.00 124, 580. 00 124, 580
MR 2E0%
% 1.00 179, 843.00 1,798
& B 1YE%HeH - 1.00K 181, 641.00 181, 641
&5 :2-3
B BETX 1%y
2 b g - BIRTE By = B O ® W E " =
REE S4 kY 2L
B 1.00 3,426.00 3,426/2.00H / 8H
BIEFEHEM
A 1.00 48, 000. 00 48, 000
RIS HRER
A 1.50 42, 200. 00 63, 300
Bl S H A
A 1.50 32, 400. 00 48, 600
BEBF
A 1.00 31, 100. 00 31,100
BIEf FRP D 70PSZE!
B 1.00 48, 887. 00 48, 887 8H
GNSS;BIfI & DGNSS
B 1.00 25,575. 00 25,575
TILFE—LBERZEH 36~455kHz
B 1.00 338, 250. 00 338, 250
MR 2E0%
% 1.00 607, 138. 00 6,071
& B 1E%HeH - 1.00K 613, 209. 00 613, 209
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TMAFERBEGIAH B RBRIZE(NERRERTE

BE .24
Z TILFE—LAE 1BEY (0.82km?2)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3,426.00 3,426/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 57,402. 00 57, 402 |8H
BIEFEHEM
A 1.00 48, 000. 00 48, 000
RIS HRER
A 1.00 42, 200. 00 42,200
Bl S H A
A 1.00 32, 400. 00 32, 400
BEBF
A 0.50 31, 100. 00 15, 550
GNSS;BIfI & DGNSS
B 1.00 31, 775. 00 31,775
TILFE—LBERZEE 36~455kHz
B 1.00 420, 250. 00 420, 250
MR 2E0%
% 2.00 651, 003. 00 13, 020
& B YEEREN 1 0.82km2 809, 784. 00 664, 023
&S .25
B RAFET— 2 EE 1LY
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.10 48, 000. 00 148, 800
RIS HRER
A 4.10 42, 200. 00 173, 020
Bl S H A
A 6. 20 32, 400. 00 200, 880
MR 2E0%
% 4.00 522, 700. 00 20, 908
& B 1E%HeH - 1.00K 543, 608. 00 543, 608
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TMAFERBEGIAH B RBRIZE(NERRERTE

&5 :2-6
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 43, 000. 00 43, 000
& Hi 1YE%HeRH 1,00 43, 000. 00 43, 000
&5 : 3-1
ZFF  SRFTEET T —FERK s EP
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.50 51, 200. 00 76, 800
e (B)
A 1.50 41, 600. 00 62, 400
AR (C)
A 1.00 32, 800. 00 32, 800
& Hi 1E%HEDN 1. 00HEER 230, 600. 00 230, 600
&5 :3-2
&% EHARE 1LY
2 b g - BIRTE By = B O ® # " =
EXERARE
= 1.00 6,918. 00 6,918
& Hi 1E%HeRH - 1.00K 6,918. 00 6,918




